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 Consider the following numbers.   
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Write down 
(a) the integers, 

(b) the irrational number. 
	
	    Ans: (a) _____-3,  7   _________  [1]


	
	 Ans: (b)  ________
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_________  [1]
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If p : q = 5 : 6  and  q : r = 8 : 13, find p : q : r .

	p 
	:
	q
	
	q
	:
	r
	

	
	
	
	
	
	
	
	

	5 x 4
	:
	6 x 4
	
	8 x 3
	 :
	13 x 3
	....................................... [M1]

	 20
	:
	24
	
	24
	:
	39
	


	
	Ans:  ____20___ : ____24___ : ___39_[A1] [2]


3
A rectangular sign board measures 3.03 m by 1.89 m.


(a)
Give an estimated area of the board.


(b)
Find the exact area of the board.  


(c)
Find the area of the board correct to 3 significant figures.  



(a)  
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	Ans:  (a) _______6_______m2 [1]

	
	Ans:  (b) ____5.7267_____m2 [1]

	
	Ans:  (c) ___5.73________m2 [1]


4
(a)  
Find the value of  55% of 74 kg. 


(b)
Paul’s monthly salary increased from $3600 to $3900.  Find the percentage increase in his salary.


(a)   
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(b)
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	Ans:  (a) ______40.7______kg [1]

	
	Ans:  (b) 
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5
The marked price of a LED TV is $3745 inclusive of GST.  If the GST rate is 7%, find 


 (a)   its price before GST,


(b)
the amount of GST charged on it.


(a)
107% = $3745
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(b)
GST amount = 3745 – 3500                       

	


	   Ans:  (a) $ __3 500______[A1] [2]

	

	Ans:  (b) $ __245____________[1]


6
Simplify the following expressions.


(a)
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(b)
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[image: image14.wmf](

)

a

as

2

12

                                        ……………………………….…………………...…[M1]

	
	    Ans: (a) _______
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	 Ans: (b)  __       6s_______[A1]__  [2]
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Factorise completely the expression 
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	Ans:  ____
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8     (a)
Find the prime factorization of  1089.

(b)
Using your answer in (a), find the square root of 1089.

	(a)
	3
	1089
	
	………………...………  minimum of 2 steps …………………  [M1]

	
	3
	363
	
	

	
	11
	121
	
	

	
	11
	11
	
	

	
	
	1
	
	



(b)
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	    Ans: (a) ______
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	 Ans: (b)  __       33_______[A1]__  [2]


9
Towns X and Y are 30 km apart.  

Rachel cycles at an average speed of 15 km/h from X to Y.                                      

She then cycles back to X from Y at an average speed of 12 km/h.  

Find her average cycling speed for the whole journey.


Total distance = 30 + 30 = 60 km       …………………………………...……………….....[M1]

Total time taken = 
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Ave. speed  = 
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	Ans:  _______
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10
Simplify the following algebraic expressions.


(a)
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(b)
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(b)  
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	Ans:  (a) _________
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	Ans:  (b) _____
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Solve the following equations.



(a)  
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(b)
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(b)
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	Ans:  (a) x = _____8____[A1]_ [2]

	
	Ans:  (b) y =_____10___[A1]_ [3]


12
The pictogram shows the mode of transport for a group of workers travelling to a company on a particular day. 
	
	Car
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Bus
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MRT

[image: image55.png]


[image: image56.png]


[image: image57.png]


[image: image58.png]







(a)
Which mode of transport is least common?

(b)
Find the ratio of the number of workers traveled by Bus to that by Car in its lowest terms.

(c)
If 45 workers travel to work by Car, how many workers does each   [image: image59.png]


 represent?                              

(d)
Find the total number of workers reporting to work on the above particular day. 


(b)
Ratio,   Bus : Car,  6 : 3 

(c)

[image: image60.wmf]  

15

   

  

3

  

  

  workers

45

=

¸



(d)
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´


…………………………………………...[M1]
	
	Ans:  (a) ______Car _______ [1]

	
	Ans:  (b) ___2____  : ___1___ [1]

	
	Ans:  (c) _______15________ [1]

	
	Ans:  (d) _______195___[A1] [2]

	13
	The pie chart shows the sports preferred by a group of students. 


[image: image62]
	




(a)    Find the fraction of students who prefer Cycling in its lowest terms.


(b)
Calculate the value of x.


(c)
There are 25 more students who prefer Basketball compared to Swimming.



Find the total number of students in the Basketball group.


(a)
Fraction =  
[image: image63.wmf]o

o

360

30



(b)

[image: image64.wmf]o

o

o

o

360

4

50

30

100

=

+

+

+

+

x

x

          …………………………………....…... [M1]



    
[image: image65.wmf]o

180

5

=

x

   
[image: image66.wmf]36

5

180

=

=

Þ

o

x



(c)

25 students       =  50(                                        


1 student           = 2(
………………………………..……........ [M1]



Total students   =  
[image: image67.wmf]o

o

2

100


	
	Ans:  (a) _______
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	       Ans:  (b)  x = ___36_____[A1] [2]

	
	Ans:  (c) _______50____[A1] [2]


14 John and James take 56 seconds and 68 seconds respectively to run a 400 m circular track. 


They start at the same time at the starting point at 8.00 a.m sharp.

(a)   Find the time taken for them to meet at the starting point again.
(b) State the time to the nearest minute when they meet at the starting point again.
(c) Calculate the number of laps run by John by then. 
	(a)
	2
	56    ,
	68
	………………………perform full steps…………………….[M1]

	
	2
	28    ,
	34
	

	
	 2
	14    ,
	17
	

	
	7
	7      ,
	17
	

	
	17
	1      ,
	17
	

	
	
	1      ,
	1
	




L.C.M = 
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(b) 
952s  =  15 mins  52 secs


8.00 a.m + 15 mins  52 secs       


( 8.16 a.m (nearest minute)

(c)
952 ( 56 =  17 laps
	
	Ans:  (a) _____952__[A1]_ seconds [2]

	
	       Ans:  (b)  8.16 a.m or  08 16_[A1] [1]

	
	Ans:  (c) ________17 ___________ [1]


~ End of Paper ~
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